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Problem Two 

 
Assume you have decided to grow a crop of impatiens and a crop of geraniums.  You are to order 1/2 ounce of 
impatiens seed and 3 ounces of geranium seed. Both are to be seeded in the first week of January.  You plan to 
maintain a germination temperature of 75° Fahrenheit.  Both are expected to produce an 80% yield of viable 
seedlings. 
 
According to the information provided, how many 18 count flats of impatiens and geraniums can you expect to 
produce and which grouping of statements are true? 
 

A. 1.  2,311 flats of impatiens and 826 flats of geraniums 
 2.  Both are to be transplanted February 4 
 3.  Neither require hardening 
 4.  Both are to be sold April 12-30 
    
B. 1.  2,311 flats of impatiens and 1,444 flats of geraniums 

 2.  Both are to be transplanted February 4 
 3.  Both require hardening 
 4.  Both are to be sold May 10-20 
 
 C. 1.  1,155 flats of impatiens and 826 flats of geraniums 
 2.  Both are to be transplanted February 4 
 3.  Neither require hardening 
 4.  Both are to be sold April 12-30 
 

D. 1.  1,155 flats of impatiens and 275 flats of geraniums 
2. Both are to be transplanted April 12-20 
3. Both require hardening 
4.  Both are to be sold April 12-30 
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